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�� � � � ��� Æ É./.1 � 2 � - 1\Ì.1 � Í�� T± 
�� � � 
�� � � ��� � Æ Í¸� T?  � �� � � 
�� � � ��� � Æ Í�� T±  � �	 � � 
�� � � ��� � Æ Q /G4G4 � 4G4.4G4.4.4 � � -9²+Ì¥ 
Ù �¸�	�T���	���=�T�t�#�T§��#��¨ �T�1� ��·9�>�5�¸­^�\��� �´�	�\���9�	�������[¬´�d�\�������B�	���	���5�=�H­H�����¥�±�À¬&�T���£�Å�=�#�d�	�1�L�7�£���t§¥���	�$89�5�?¾
�£���\���W�����B���q­T���1�t�1��� �#�9¢ �7�	�5�1²À°>�������L�7��µC�5�7�£�9�	�����7�	�$�B���q�����,¬����	�,�£�9�ÏÍ¸�Îº® O�£�9�������¸¬����	�Sº Æ /U4.4

Ç5Ì



�#���£�Y�\�&�	�\���9�	������� 1>¹Y2��7��� � ¬&�T���±�©�1���#�	���	­H���T���£���£�9�(B � ¾¿µC�#���Ï�5�=�#��²À¼d���#�q�£�9���	���=�#��­��=���	��¬����	�S�£�9�
�£�=�q� �� �7��� �� ¤��7���T����§T�3�����9���H���	�1� ��¤��=���9�dµC�\� �	 ²[³´�T�d�t�=���,�9���H���	�1���B�d�����	�H�I���=���^�#�����3�£�����T�´�7�	���#�I�7�
¬��9��� ����Æ 4>²  ����1���¥�£�£�\���&�1�9�=�����9���T¢��	�T��º ÆÁÇ$4.4.4G4q���\�#�$¬W�Ï·T�T�
�� � � 
�� ����� ��� Æ Ç � 49Ç\Ç>4\Ì9Ç � Í�� T±  � �� � � 
�� ����� ��� Æ Q Ç?1 � 49Ç>/G2.1.+ �ÓÍ�� T± 
�	 � � 
�� ����� ��� Æ Q 15- � 1G+G2�É.+3Ç �929Ç � -31.+\É\É�É
� � Í¸� T? 
�� � ��
�� ����� ��� Æ 4 � � 2 � Ç�ÌW1 � Í�� T±  � �� � ��
�� ����� ��� Æ Q Ì�É � 2�É./3Ç>/.+ �ÓÍ�� T± 
�	 � ��
�� ����� ��� Æ Q - /?- � �.� 2\É�É.1 �ÓÍ¸� T? 
�� � C 
�� ����� ��� Æ 4 � � 2 � Ç�ÌW1 � Í�� T±  � �� � C 
�� ����� ��� Æ Q Ì�É � 2�É./3Ç>/.+ �ÓÍ�� T± 
�	 � C 
�� ����� ��� Æ Q Ç?/=É9Ç � É.4.15-W2W+ �ÓÍ�� T± 
�� � ��
�� ����� ��� Æ 4 � 2W/?- � ÉU- � Í�� T±  � �� � ��
�� ����� ��� Æ - Ì � 29Ç$4 �.� + � Í�� T± 
�	 � ��
�� ����� ��� Æ Q /./U2 � 1.+\Ì\ÌW+=Ì �ÓÍ¸� T? 
�� � � 
�� ����� ��� Æ 4 � 2W/?- � ÉU- � Í�� T±  � �� � � 
�� ����� ��� Æ - Ì � 29Ç$4 �.� + � Í�� T± 
�	 � � 
�� ����� ��� Æ Q +./U2W/ � 2�ÌG4�É\ÉW+ �ÓÍ�� T± 
�� ��� 
�� ����� ��� Æ Í�� T±  � �� ��� 
�� ����� ��� Æ Ì5- � -TÇ?+=Ì�É.4
� � Í¸� T? 
�	 ��� 
�� ����� ��� Æ Ç>+\É�Ì � Ç>/.1G2 � / �ÓÍ�� T± 
�� � � 
�� ����� ��� Æ Í�� T±  � �� � � 
�� ����� ��� Æ Ì5- � -TÇ?+=Ì�É.4
� � Í¸� T?  � �	 � � 
�� ����� ��� Æ -¥Ì.2 � / � ÉU- � Ç � Í�� T± 
�� ��� 
�� ����� ��� Æ Í�� T±  � �� ��� 
�� ����� ��� Æ Í�� T±  � �	 ��� 
�� � ��� ��� Æ Q Ì�Ì\Ì � Ì\Ì�Ì\Ì�Ì�Ì � Í¸� T?  � � -9²,-> 

Ö �1�	���£�9���	�«���´���9�«µC�9�������1�\��­T���B���#�\���9�£���\�Ã² Ù �,�	�T�«�T�1� �����I¬W���´¬&�����9�5¬!�£�9�«�	�5�=�����`�,�\µF�=���)�#�����3�£�����T�´���
�	�����£���#�5�Å�	���T�1�\¹TµC�\�&�B�T�=�q­T���\¹
�� � � 
�� � � � � Æ Ç � 49Ç>/G2.1.1 � Í�� T±  � �� � � 
�� � � ��� Æ Q Ç � � 2�ÉW+G+5-31 � Í¸� T? 
�	 � � 
�� � � ��� Æ Q Ç?1?- � É�Ì � Ç>2 �ÓÍ�� T± 
�� � ��
�� � � � � Æ Ç � 49Ç>/G2.1.1 � Í�� T±  � �� � ��
�� � � ��� Æ Q Ç � � 2�ÉW+G+5-31 � Í¸� T? 
�	 � ��
�� � � ��� Æ Q +.1G+ � 1 � / � 2 �ÓÍ�� T± 
�� � C 
�� � � � � Æ Ç � 4.4 � É.1 � � Í�� T±  � �� � C 
�� � � ��� Æ Q +G/ � É�Ì�É\ÉW+=É � Í¸� T? 
�	 � C 
�� � � ��� Æ Q +\Ì5- � ÉW+\Ì � Ç�Ì � Í¸� T? 
�� � ��
�� � � � � Æ Ç � 4.4 � É.1 � � Í�� T±  � �� � ��
�� � � ��� Æ Q +G/ � É�Ì�É\ÉW+=É � Í¸� T? 
�	 � ��
�� � � ��� Æ Q�É�É � � 1./\Ì\ÌW/G/ � Í¸� T? 
�� � � 
�� � � � � Æ 4 � 2U-TÇ5É3Ç5É � Í�� T±  � �� � � 
�� � � ��� Æ Ì./ � -TÇ � 2W1.+ �ÓÍ�� T± 
�	 � � 
�� � � ��� Æ Q�Ì�ÉG4 � � 4�É.1\Ì./ � Í¸� T? 
�� ��� 
�� � � � � Æ 4 � 2U-TÇ5É3Ç5É � Í�� T±  � �� ��� 
�� � � ��� Æ Ì./ � -TÇ � 2W1.+ �ÓÍ�� T± 
�	 ��� 
�� � � ��� Æ Q Ç?1U4U- � 29Ç � - � Ç � Í�� T± 
�� � � 
�� � � � � Æ Í�� T±  � �� � � 
�� � � � � Æ +G1 � 1?-.-TÇ5ÌW+ � � Í¸� T?  � �	 � � 
�� � � � � Æ 2W+>Ç � 4./.+=É�ÌW+ �ÓÍ�� T± 
�� ��� 
�� � � � � Æ Í�� T±  � �� ��� 
�� � � � � Æ +G1 � 1?-.-TÇ5ÌW+ � � Í¸� T?  � �	 ��� 
�� � � � � Æ +G2./ � 4G2W1G1.+G4 �ÓÍ�� T± 
�� � � 
�� � � � � Æ Í�� T±  � �� � � 
�� � � � � Æ Í�� T±  � �	 � � 
�� � � ��� Æ Q +>Ç5É � É�É\É�É\ÉW1 � Í¸� T?  � -9² /� 

¬��9���×º Æ ÉW/U4.4>² ³´�T�¦�#�����9�	�����T����� �	�T���,�	��¢\�����!��� �$�H�5�B���H�\�t�£�9�¦�£�=�q�Ð���£�#���?�£�T�#�Ð�\�t�£���7�ÅµM���
º�� Ç�ÌW/\É\Ì3²¸���#��­T­9���T¢Å�£���£�9�¸�9�1� �P�#�5�?�£���«��¬´�S­T�9�	�1���Ð�B���q­T���1�¦�#�����3�£���\���Ï�1�����#¢��\²¸ÂT���Ï���T���?�=�T�1�\¹
¬��9���Yº ÆÁÇ$4.4�¬´�$·T���

�� � � 
�� � ��� Æ 4 � /U4U-31 � É �94 � 2.2\É.4.1G4 � �ÓÍ�� T±  � �� � � 
�� ��� � Æ Ç � ÉG4U- /G1 � QpÉ � 13Ç$4.2U-TÇ � �ÓÍ�� T± 
�	 � � 
�� ��� � Æ -32 � � /=Ì.2.2 �XÌ.1 � -3/ � - 1
� �ÓÍ�� T± 
�� � � 
�� � ��� Æ 4 � /U4U-31 � É �94 � 2.2\É.4.1G4 � �ÓÍ�� T±  � �� � ��
�� ��� � Æ Ç � ÉG4U- /G1 � QpÉ � 13Ç$4.2U-TÇ � �ÓÍ�� T± 

ÇE-



�	 � ��
�� ��� � Æ Ç?1 � ÇE-¥É � É./ � / � />ÇE-3/ � É
� � Í¸� T? 
�� � C 
�� � ��� Æ 4 � /=ÉW1U49Ç�Ç �ÓÍ�� T±  � �� � C 
�� � ��� Æ Ì � � 2.4 � Ì�É � Í¸� T? 
�	 � C 
�� ��� � Æ QÄÌ � Ç$49Ç>2G2�É �ÓÍ¸� T? 
�� � � 
�� � ��� Æ 4 � /=ÉW1U49Ç�Ç �ÓÍ�� T±  � �� � � 
�� � ��� Æ Ì � � 2.4 � Ì�É � Í¸� T? 
�	 � ��
�� ��� � Æ Q +G/ � ÌW+.+ � +G1 � Í¸� T? 
�� � � 
�� � ��� Æ Í¸� T?  � �� � � 
�� ��� � Æ Ì � -G-�Ç>+\Ì�É
� �ÓÍ¸� T?  � �	 � � 
�� ����� Æ Ç?+ � É�Ì3Ç?/G1 � �ÓÍ�� T± 
�� ��� 
�� � ��� Æ Í¸� T?  � �� ��� 
�� ��� � Æ Ì � -G-�Ç>+\Ì�É
� �ÓÍ¸� T?  � �	 ��� 
�� ����� Æ - � Ì.2W/ � É./ � Í¸� T? 
�� � � 
�� � ��� Æ Í¸� T?  � �� � � 
�� ��� � Æ Í¸� T?  � �	 � � 
�� � ��� Æ Q Ì � Ì�Ì�Ì\Ì�Ì\Ì �ÓÍ¸� T?  � � -9²+É¥ 

³��9�	�\�T¢��9���3���I�=�±�p�\µ´�£�T���#�,�	�\���9�	�������P�\�T�t��µ´�	�T�t�	�I�7��·9�>�5��­^�\��� �£�������	�T�t���9�¸¬��9���±�p�£�9�t�L�=�	¢\�Åº
�1�>­^�\�T���¥�±�����Å�£�9��Ê��F�¿º® À¤����	�	���\�S��µ�� +>²+É� ��=�#���1���9�T���B�£���,�£�9²

%��9��·9�H�7�Ã�1�9�=�q­T���Ï���&��µF�#­^�5�B�L�=�)��� �£�1�	���#��²O� �T�1�Yº Æ +��\�T���#�����9�	�����T���£�©�¿Ì3²�Ç\ÇI ´�=�	�

� � � 
�� � Æ 4 � Ç � ÌU- ÌG2 � � Í�� T±  � � � � 
�� � Æ Q 4 � +=É � É.2U- � � Í¸� T? 	 � � 
�� � Æ 4 � 4 � Ç5ÉU-TÇ � Í�� T± � � � 
�� � Æ 4 � Ç � ÌU- ÌG2 � � Í�� T±  � � � ��
�� � Æ Q 4 � +=É � É.2U- � � Í¸� T? 	 � ��
�� � Æ Q 4 � 4�Ì.2\Ì9Ç$4 � Í¸� T? � � C 
�� � Æ 4 � ÇE- � 4W1>Ç � � Í�� T±  � � � C 
�� � Æ Q 4 � -G- 1G+3ÇE- � � Í¸� T? 	 � C 
�� � Æ 4 � +G4.15-34.1 � Í�� T± � � � 
�� � Æ 4 � ÇE- � 4W1>Ç � � Í�� T±  � � � ��
�� � Æ Q 4 � -G- 1G+3ÇE- � � Í¸� T? 	 � ��
�� � Æ 4 � 4�É\É�É�É.1 � Í�� T± � � � 
�� � Æ 4 � +G2.+\ÌW/>Ç � Í�� T±  � � � � 
�� � Æ 4 � -¥Ì�Ì � 1 � � Í¸� T?  � 	 � � 
�� � Æ 4 � 4W+G1 � 2W/ � Í�� T± � ��� 
�� � Æ 4 � +G2.+\ÌW/>Ç � Í�� T±  � � ��� 
�� � Æ 4 � -¥Ì�Ì � 1 � � Í¸� T?  � 	 ��� 
�� � Æ Q 4 � -W4W1\ÉG2W/ �ÓÍ�� T± � � � 
�� � Æ Í�� T±  � � � � 
�� � Æ 4 � -32\É�É\ÉU-�� �ÓÍ�� T±  � 	 � � 
�� � Æ 4 � +./G+\É�Ì.+ � Í�� T± � ��� 
�� � Æ Í�� T±  � � ��� 
�� � Æ 4 � -32\É�É\ÉU-�� �ÓÍ�� T±  � 	 ��� 
�� � Æ 4 � 4.2.1.13Ç � � Í�� T± � � � 
�� � Æ Í�� T±  � � � � 
�� � Æ Í�� T±  � 	 � � 
�� � Æ Q 4 � 4�É\É�É�É.1 � Í�� T±  � � -9² 1� 
� �T�����Ï�£�9���	�P�=�	�ÏµC�1¬W����­9�T�#�����Å�	�I�7� �#�����3�£�����T�&�	�T���	�$�	�H�7���=�	�Ï���t�=¢\���H�7�#�S���9���SµM��� �� �=�T� �� ¬������.�H�1¤¥�
�	�5�=�Ã�£¨¥�H�7�	�5�´¬��T�1�S­T�9���\�Å�£�9���±�7���ÏµC� �\�	���T¢t�=� �	 ²À³��9�Ï�t�=���S��§��#�1�#¤��I�£���\�S�����	�\���9�	�����@-T¹3¬��T���£�©���d�
���?�7§T���Ï·3�3���S­H�����¥�5¹T���\�´�£�9�Ï­9�	��­H�����`�,�£���7�

�� Æ Ì��� �ÓÍ�� T±  � �	 Æ Ì��� � �ÓÍ�� T±  � � -9² 2¥ 
³��9���q�����9�\�t�=�g�\�1�1���3��� �t�\���¦�#�������L�7�t�#�\���9�£���\�Ô�1�����#¢����X���X�	�T�S�	���Õ�9���q�����#���\�H�=�dÊ��
�Îº® P�5�=�	�ÅµM���
º�Æ +>¹	� 2U-U�¿¹3�=���	�T���9¢��¸�	�T���#�&¬&�=�À�T�P¨ ���=�#�	�������¥�£�1�±�\�?�£���\�¸�£�T�1�	�\² Ù ��� 2U-U�^���À¬&�=���	�9�I¬&�¸�	�P§H���3�T�&�	���
�T���9�9�1���#�T­H���£���>�����B�£���¸§H�=�#�5�¸���¸�	�T���#�T­H���#¢��	�\�T­ÅÍPÊ��F�#Ç �,+� ±²
³��>�T������¬´���9�����=­T­H�I�7�À�£�H�I���£�9���±�7���
���3�q���1�	�#�S�=�#���#�5�&���Å�£�9�Ï�1��¢�� ���9���q�����#���\�H�=�.�	�5�7�L�=���£�9���\�#�¥² %��9��­9�	�\­^�����`�,��µ �	�T�����#�9­^���	���3���q�1�	�#�����
�£���7���	�T�$·T�1���©�7�T���¸�=���\���&�3�����1���#�����SµC�\� B � �7��� �¦�#�T�\�T����§^�$�5¨¥�T��¤\�=�����¥���7���,¬´�$�H�1¤¥�Ï�±�9�5�£¶��5�t�£�9���
�=�T�ÅµC���9���,�£�H�I�

� � � ��� � � � � � C  �� � � 
�� � Æ � " � � � � � � � � C  �� � ��
�� � Æ Q 4 � Ç\Ç�Ç\Ç�Ç�Ç$T � Í�� T �   � � -9² �  
¼��?�£���=�������£�T���±�7�������I�=�9���T¢®���	�9�1���1�>­^���9���¥�±�������1�	¢\��µC�\�q�#�����9�	�����ÔÌ©�£� �®§T�3���£�9���������\�T��� �9�9�,�£�
� � � � � � � � � � C   �=�T� � " � � � � � � � � C  Ã�T�=�O�3��­^�1���3���T¢���� � C �7�F���T�W��� ��­Ã² � �H�I�
���F­^�1�	�H�7­�� ���\�	�´���¥�£�#��¢��T���9¢
���´�£���7�´�£�T�Ï�B�	���	���5�=�)­^�\��� �����£�#���B�	�T�#�$��µ.�£�9�Ï�#�����9�����1���#�������=� Ê��F� +� ��5�\�#�$����¢���¤����Å§¥�,�£�9��� � 4����������
��µO�£�T���I¾����?�I�£� A �=�	�±�d���3�3���Î¹ � 2W/?�¿² Ù �Z� 2�É?�O���$¬��\�«�#�T¢�¢\�5���£���©�£�H�I���£�T���T­T­H���$�1�#���£���5�7�O�9���q���T�	���\�¦µM���
�£�9�����5¨¥�T��¤\�=�����T�1�P¬&�=���	���^²�'«��¤����Y�£�9���	�1�L�7�	�����Ò��µd� + ²+É¥ ��T�I¬Ä¬&���£�Ô� +>² /� ��7���£�9�P� �����#���3¾�ÂF���	�9����·9�>�5�

Ç?/



­^�\��� �´�=�T�q�£�9���=­9­^�I�7�±�7���1�&��µÃ�$�T���9�9���t���3�q���1�	�#�qµC�\�´Ê��
� +� O�7�W���#­^���1��·T�&·9�>�5��­H����� ��¹>�#�������L�=�À�£�P�#���
�9���q���T�	���\���(� 2U-G�¿¹T����¬´�\�T���S§H����� �	���#�5���£���9¢��	�¸�	�1�$¬��T�B�£�9�����£�9���#�5���£�#���B�	�����S�	�t�#���S�3�����1���#�����T���7�	¢��9�5�
��� � 2\É5�
�B���T���©§^�P�B�>�£�1���3�5�S�£�t�1��¢��¥�«�9�����1���#�����T�1²�� �T�����P���9�dµC�3�B�������Y�£�9�����#�5�?�£���\�Y�H�\��§^�1���Y���©�£�9�
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º » ��� 
 Æ + � 1 � 1G/\É�É � ��
�

� �,+ � Ç � 23Ç5ÉW/ � � QpÌ � - Ì.+G4.4\Ì � � �
T
�
�

� Í�� T �  

� ��� 
 Æ 4 � Ì � 4\ÌU- � � �,4 � Ç5É.+G4U-31 � � Q 4 � 4\ÉU- 1G/3Ç � � �
T
� �

� Í�� T �  

� ��� 
 Æ 4 � � ÉW/?- � 2 � �,4 � -�Ç>+ � +G1 � � �94 � Ç>2./\Ì\ÌW+ � � �
T
� �

� Í�� T �   � � 1>²�Ç$4¥ 

�=�T���£�T�$�\�	�T���´�`¬W�t�=�#�
º ��� 
 Æ � Ì � +G2�Ì./ � / �94 � É\É.4�É.1G2
� � � ��

�� � � Q�+ � 4.2 � +.1G/ Q Ì � � 4W1\Ì.+.1 � � � � � � Ì � 1\ÌW1G+\Ì./ � Ç � 2\É � 2 � É
� � � � �
T
�
�

�ÓÍ�� T �  
� ��� 
 Æ 4 � 4�ÌU-G-�Ç>1\Ì ���O4 � -3+G4G4�Ì�É

� � � Q 4 � 4�Ì � +G2 � Q 4 � Ç>/G4.2.+\É
� � � � � � 4 � +5-.- � 4./ �94 � 4.15-323Ç?/ � � � � �
T
� �

�ÓÍ¸� T �  
� ��� 
 Æ Ç � - ÉW1=Ì � Ç7Q 4 � Ç$4.49Ç\Ç5É
�

� � � Q 4 � 4W1 � - 1U2�Q 4 � -W2W1\É5- Ì
� � � � � �bÇ � 4W1.1=Ì.2 � Q 4 � 4G2�ÌW+G+\É
� � � � �
T
� �

�ÓÍ¸� T �  B� 1>²�Ç\ÇI 

�=�T�Å���±�&�1�\��­T���B�Å�1��� �#�9¢ �7�	�Ï�9�1�T�\�	�5��§ � � ²ÀÂT�����	�1µC���#���T�1�$�	�T�$�	�I�7�.�#�����3�£���\�©µM���dÊWË��¿Ì� W���
º » ��� 
 ���� � � C 
 Æ Ç�É � 1G2W/=Ì � 2 Q Ç�- � 1=Ì.4.+5- ÉGT �ÓÍ�� T �  
� ��� 
 ���� � � C 
 Æ 4 � Ì � 4�Ì5- � � 4 � 4.4W1G+.1U4.T �ÓÍ�� T �  
� ��� 
 ���� � � C 
 Æ 4 � � ÉW/5- � 2 � 4 � - � /G+ � 1GT �ÓÍ�� T �   � � 1>²�Ç>+� 

Ù �¥�£�1�	�5���	���T¢������	�T�«���>�5�7�	�������\µÃ�£�9�«�1���9µC�\�	�t�7�H¬������3�I¬!���Å­9�T�#�����,�#���,�3�������T�#�������´���W§^�B�`¬W�����ÅºÀ»�Æ Ç5É
�=�T�gÇ?1��	���q���L�=���£�©µM���T���9�����1���#�������=�´�$���P² Ö �I¬W�1¤¥�1��¹ ��� �bÇ>1?�À�	�T�¸�9��¢��T�1�P�9���q���T�	���\�H�7�À�	�T���\�#���7���
�£�9�PT¸�B�3­��=���#���\�Ô¬&�=�¸�T�	���X�£�Ð�5���£���¸�7�£�Å�£�T�S§^���9���T�=�#�X��µd�	�T�S¬&�����9�5¬ ��� �®���I¬´�1�,�3�����1���#�����g§ �
�#�T�q�t�7�	�����)² Ù µ.¬´���1�\���#���9�1���	�H�7�d�7­T­9�	� �=�±���£�T�«�`¬W�����>�\­©�B���	�#�5�?�£�����Å�	���£�T�$�	�5�=�.�#�\���9�£���\�Ã¹�º » ��� 
 ¹9����1�\��­��=�±�7§T�����£�,�	�T���\�T����� ��­®­��=���5²�³��9���$�	�9¢�¢\�5���±���£���7�$­H�����£�T�#§H�I�£�����Ò�£�9���\�#�©�t�1�Ò�9�\�$§H���	�1���L�=§T���\²
Ö �5¬´�B¤¥���1¹O�T�#���T¢¦�©�#����­T��� A �=�7\���=­T­9�	�5�3���t�7� ��¹
¬&�T���±�p���P­^�¥�	�#��§T���,�9�9�t�£�©�	�T�t�9��¢ �I�£��¤����1�\�	�#�5�B�	�����)¹
�£�9���Ð����µM���T���9�����1���#�����T�Ï¬W�¸·T�T��º » ��� 
 Æ 2 � � Ì �G�.� Ç\²t³´�T���Ï�������5¬´���$�£�H�7�Ð�£�9�����I�\�3���T¢©�\�£�3����¹
�7���
�#�������L�7�&�	���£�9�Ï�	���	�H�I�£�����Å���S�	�5�=�L�7��Í��¿ºÒ 7BDCd�£�9���\�#�¥² Ù ��¬´�\�T���Å§H�$��� �	���	�����£���T¢��	���#���«¬����7�&�E�^�5�?���£�9�
�£�9�	�1�Ï���>�\­©�1���#�	���B�£���\���´¬´�\�T���S����¤��Ï�����£�9�����1�#���£���5�7� º[»�¤��7���T��²

+G2



Ö �1¤3���T¢qµC�\�T���,�	�T�«�	�1¢�������¬��9���	�«�	�T�1�	�$�������B���9µC���#�t�7�Ø¬&�����9�5¬ ���&���´¬´�\�#�	�©�=�H�7���9�#���T¢��£�9�$�#���T�\�#¾
�t�7����ªI�I�£�����¦¢\�	�\�T­®µM�T���?�£���\���d¬����£�9���®�£�9���«µM���$�#­^���1��·9�5�Y¤\�=���T���«��µWº[»>²Ï�����±�=¶\��º[»ÅÆÁÌ>¹[Ç?+,�7���ÕÇ5É>²
³��9�5�#�q�±�T�\���1���Ï�7�	�����\�	��¤��I�£�5�Ò§ �©¤��7���T���«���¦µM���T�«�9�����1���#�����T�1²�ÂT���«�������?�7���B��¹Ø�£�9��·T�	���Ï���«§H�5�5�7���#�����
�1�\�	�#�5�#­^�\���T�F�£�«�	�T���>�9��§H���[�\µH����¢��¥��¨ ���=�#¶3�1²
³��T�´¤\�=���9�&��µFÇ�É����[�±�T���#���q�	���T�1�����[���O�	�T���L�7�	¢������O¬����£�9���
�£�9���#���®�9�����1���#�������=�[�B���TµM���#�t�=�F¬����T�9�5¬�²�Â
�����=������¹Ã¬´���B�����#���3����º[»SÆ Ç?+,�#�����B���£�9���	�����$���¥�£�1�	�5���Ï���
µC�\�T�[�3�������T�#�����H�7�3�£�9�����#���5�F¬����£���	�T���F¤��=���9�&�9�9�´�£���£�#�>���T¢«�	�$�T���3���	�#�±�=�T���	�T�  ´�=�T¶>��¾ !)�7¶3�F·9�>�5��­^�\��� �
�T�\�9¾¿­^�����£�9�	§H�I�£��¤����������¸�£�9�d�L�7�	�	���1�\²[ÂT�����5�\�±�t�\µØ�£�9���5�\�#���[�£�T�1�	�«�7�	��µM���9�W�	�\���9�	�������[�£���£�T�d��¨ ���7�£���\���

½ � � � ��� � �  XÆ 4 � ½ � � � ��� � �  XÆ 4 � 1>²�Ç�Ì¥ 
µC�\�´��­��=�#�	���1�9�L�=��¤��7���T���\µ.º[»��1�3�1���T�9���T¢��£�9�d�£�#��¤3�L�7�^���9��² Ù �¸�	�T���W�1�\�T� �	���T¢�¬´����¢\�T�\�	�«�#�\���9�£���\���[¬��T���£�
�=�#���\§9�?�7���T���YµC�#��� �£�9�5�#�P§ �S�	�E8T�5�?�£���\��� � � � Q � � ²«ÂT���d�I�\�£�Y¤\�=���T�P��µÀºÀ»q¬´��¢���¤��P�	�T�����>�5�I�£�����Ò�\µ
�£�9��·3�3�5�©­^�\��� �«���Y�£���#�¸�d��µ � �=�T� � �7���S�£�T�P�	�1�T���#�t�7����ªI�7�	�����®¢\�	�\�T­ÒµC�9���B�	�����T���B¤��7���H�7�	�5�Ò�I�$�5�\�£�
·9�>�5� ­H�����¥����� �£�9�Å¡F�7���T�=�Õ¢¥�=�T¢\��² Ù �T�1���T�9�5� ��� �£�T���q�=�#���	�T���1��¢��1�9¾��B�	���	���5�=�W�1�3­H���9��� �£� ���!¬��T���£�
�=�#�S�£�9�©����¢\���¥¤��=���9�5����µ��	�T�©�¸�7�	�	����� ���

���	�
² ³��9�Y�#��¢��T�¸��µd�£�9�5�#�©�1�>­^�\�T���¥�±�¸�3�1�	���	�q���T�S�£�9�Y���?�=§9�������`�

�����\�£�9����¬����#�,��µ��£�9��·3�3��� ­H�����¥�5² Ù � ���9���L�7§^�1�������T¢®��µ��£�9��µM���9���9���3¾¿�£�#��¤3�L�7���#�\���9�£���\����µC�\���5�\�£�Ôº[»
¤��7���T�\¹[�#�����3�£���\���,Ç,�=�T� ÌÒ�=�#�,���?�=§9���¸¬��9����� +©�=�T�I-¦�=�#�,�£�\�T�3���,­H����� �£�1²YÂ��\���#�����9�	�����T��Ç=¹ +Y�7��� Ì
�£�9��·9�£���d�£�1�	� ��µ
�	�T���£�7�����B�3­H���T�1� �����Ò�I�=�±�Ò�	�\���9�	�����Ò�����	�T���£�7����²�³´�T�������d§H�5�5�7���#���£�9���\�T����� ��­
�£�1�	� �\µØ�£�T���B���#�	�5�#­H�����3���T¢P�#���T�\�	�¸�=����ªI�I�£���\�,¢��#���9­,µC�9���?�£�����¸���9���t�3��­^�1���9�À��� � � �=�T���£�9���	�d���À�T� � ��9�1­^�1���9�1���B�����Y�£�T�����T�����>��­Y�£���#�"��µO½ � � � ��� � �  ±²Ï³��T�P¤��=���9�5��µM�����	�T���1�>­^�\�T���¥�±��§H��¢\���Ò�£�Å�3���^�1�Ï�7�
Í�� T �1 ��3�T�P�	� � � �=­T­H�I�7�	���T¢,���Y�£�9���`¬W����� ��­Y�1�3­9�	���£�#���\���1²�³��9���������£�T�P�t�7���®�#�I�=�	�\�ÒµM���$����¬´�,��� ��­
�	�1�T�\�	�t�7����ªI�I�£�����g�\���Y���9�Å��� ��­g�=���=���3�	����¬W���9���Õ�T�\�q�	�B¤¥�5�=���9�����£���T�B�£��¤��S�3���^�1�	���T�1����²p³��9�S�#�����9�	�����
�L�=§H���������X-t�����#�����B¬����7�«�9���H���#��� �����©�£���7�����«�1�\�	�#�5�#­^�\���T�&�£� � � Æ 4>² Ù �Y�$�H�5�B���£�9���#���=�	�P�9�,¨ ���=�	¶>�
����ÂH�\�9�9�1�1¤>¾ A �\­^�5¤¦¢��9�¥���±�������£�T�,�B���#�	�5�#­H�����3���T¢Ò¡ �=¢\�±�=�9¢��L�7�p§T�9���\�T���¦�	�T��Ì7¾¿����¢Y¢¥�=�T¢\�t��� ¤\�=�	�L�7� �
��­H���£�7�£�\��²&¼����	�¸�	�T��¶>���9�1�£���$�£�1�	� µM���&�£�T��¢����9���Ò�3���	��¤��5��µM�	��� �	�T��µC�#����­H�=�����\µ � ��� 
� ² Ù �Ò�#���q���#���T�#�
�£�9���d�#�\���9�£���\�Y���&�T�=�d��� �	���#�5���£���9¢,�\�d�=���Ã�	�T�P�B�	���	���5�=�Ã�1�3­H���9��� �£�d�=�#�Pª1���#�¸�1�3�1��­3� �
�p¬��9���±�S�?�=¶\�Ï�£�9�����
�5�7�T�\�T���5�7�.¤\�=���9�5�d�\µ +UT«�=�T�IQ T��	�5�#­H�5�B�	��¤¥�1���¥²�³´�T�1�	��µM���#��¹H�	�\���9�	�����X-��=­9­^�5�=�£�&�£�¸§^�P���Y�E�^�5�?�$��µM�	�1�
·T�1���S�	�\���9�	�����Ã²W° �q¬´���3���T�=���B�3­T�����B���£���Å�#�5�B���£�©�7� ���B�3­H���T�1� ��¤��=���9�5�&µM���&�	�\���9�	�����@-T²

¯©���	�Ï�#­^�5�B��·����=�����Å�\�T�&�#�5�#�T���£�&µC�\�dº[»¸Æ Ì��=�#�

� � � 
 Æ 4 � Ç>1\É5- ÌW+ Q 4 � 4G4�Ì.1\Ì.4GT � Í�� T �  
� � � 
 Æ 4 � � Ì�É./G2�É � 4 � /?-32.1G4�ÌGT � Í�� T �  

� � � � ��� � � � 4¥ �� � � 
 Æ 4 � 2G4W/?-.- 1UT9Q 4 � Ç?+G1\Ì5-34.T � �ÔÍ�� T �  
� � � � ��� � � � 4¥ �� � � 
 Æ 4 � 4 � 1G+.1\ÉGT � 4 � 4�É\Ì�É.1G4.T � �ÓÍ�� T �  
� � � � ��� � � � 4¥ �� � � 
 Æ Q 4 � 4G2�ÉU-¥É.2GT � 4 � Ç5Ì � +\Ì.+GT � �ÓÍ�� T �  
� �� � � � � � � � � 4¥  �� � � 
 Æ 4 � Ç>1.+ � Ì�ÉGT9Q 4 � 4W1 � +=É�É.T � �ÓÍ�� T �  

�
� � � � 
 Æ + � 4G4.4G4.4.4GT � 4 � 4.25- /G/G2.T � �ÓÍ�� T C  
� � � � � 
 Æ 4 � / � 25- ÉW1UT � 4 � � 1>Ç�Ç$2.4.T � �ÓÍ�� T C  
� � ��
 Æ 4 � Ç>1\É5- ÌW+ � 4 � 4./.+G+5- /UT � Í�� T �  
� � � 
 Æ 4 � /G/G23Ç?/\Ì � 4 � Ç\Ç5Ì � ÉW+UT � Í�� T �  

� � � � ��� � � � 4¥ �� � ��
 Æ 4 � 2G4W/?-.- 1UT9Q 4 � 4U-W49Ç>/.1GT � �ÓÍ�� T �  
� � � � � � � � � 4¥ �� � ��
 Æ 4 � 4 � 1G+.1\ÉGT � 4 � 4W+U4.4.1 � T � �ÓÍ�� T �  
� � � � ��� � � � 4¥ �� � ��
 Æ Q 4 � 4G2�ÉU-¥É.2GT � 4 � ÇE-3/./G4./GT � �ÓÍ�� T �  
� �� � � � ��� � � � 4¥  �� � ��
 Æ 4 � Ç>1.+ � Ì�ÉGT9Q 4 � 4 � Ç>23Ç?+GT � �ÓÍ�� T �  

�
� � � ��
 Æ + � 4G4.4G4.4.4GT9Q Ç � Ç>25-.-W2.2.T � �ÓÍ�� T C  

+ �



� � � � ��
 Æ Q 4 � Ì.+ �.� - ÉGT9Q 4 � 4W/G/.+\Ì\Ì.T � �ÓÍ�� T C  
� � C 
 Æ 4 � Ç>1\É5- ÌW+ � 4 � Ç\Ç�Ç�- Ì�ÌGT � Í�� T �  
� � C 
 Æ 4 � 4 � Ì3Ç?/.+ � 4 � +U4U-3/.+G4GT � Í�� T �  

� � � � ��� � � � 4¥ �� � C 
 Æ 4 � 2G4W/?-.- 1UT9Q 4 � 4.4.1.+G/\É.T � �ÓÍ�� T �  
� � � � ��� � � � 4¥ �� � C 
 Æ 4 � 4 � 1G+.1\ÉGT � 4 � 4.4\Ì�É.+G2.T � �ÓÍ�� T �  
� � � � ��� � � � 4¥ �� � C 
 Æ Q 4 � 4G2�ÉU-¥É.2GT � 4 � Ç?+U4W+.+?-3T � �ÓÍ�� T �  
� �� � � � ��� � � � 4¥  �� � C 
 Æ 4 � Ç>1.+ � Ì�ÉGT9Q 4 � 4U-TÇ?+G/3Ç>T � �ÓÍ�� T �  

�
� � � C 
 Æ + � 4G4.4G4.4.4GT9Q + � /.+=É�Ì.13Ç>T � �ÓÍ�� T C  
� � � � C 
 Æ 4 � 1=ÌW/=ÌW1G4GT9Q 4 � 1\Ì3Ç�Ç>/\É.T � �ÓÍ�� T C  
� � ��
 Æ Í¸� T �   � � � ��
 Æ 4 � 1=Ì.4W+ � 1 Q 4 � Ì�ÉW/>ÇE-W2.T �ÓÍ�� T �   � � 1>²�Ç�-> 

� �T�1�Yº[»¸Æ�Ç>+P¬´�Ï����¤��

� � � 
 Æ 4 � Ì\ÌW1?- É.4 � 4 � 45-345-32W+UT � Í�� T �  
� � � 
 Æ Ç � /?-34\Ì.2U- � Ç � 4./3Ç>+3Ç5ÌGT � Í�� T �  

� � � � ��� � � � 4¥ �� � � 
 Æ 4 � 2.+.+U4�ÉU-WT9Q 4 � 4W1>Ç�Ç�É�É.T � �ÓÍ�� T �  
� � � � ��� � � � 4¥ �� � � 
 Æ 4 � 4G2.2 � É.2GT � 4 � 4�Ì././U2�Ì.T � �ÓÍ�� T �  
� � � � � � � � � 4¥ �� � � 
 Æ Q 4 � 4.1 � 4G2�ÌGT � 4 � Ç?+ � /3Ç$4.T � �ÓÍ�� T �  
� �� � � � ��� � � � 4¥  �� � � 
 Æ 4 � Ç>/G23Ç5ÉW/UT9Q 4 � 4W1U2.2G2�É.T � �ÓÍ�� T �  

�
� � � � 
 Æ + � 4G4.4G4.4.T9Q 4 � - 1 � 2U-3/GT � �ÓÍ�� T C  
� � � � � 
 Æ 4 � +G/\ÉG29Ç5ÉGT � 4 � +3Ç>/ � Ç?/GT � �ÓÍ�� T C  
� � ��
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�£�9���#��¢��T�d�\µ
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�H�=�«�9�,¢ �=�9¢���­��=�£�=���B�£�1�$�9�1­^���T�9�1���1�����Ò�£�9����¬´����� ��­Ò�	���#�S²$� �9�������	�T�������«�9�\�«�����B�����#�����£�1� �«¬&���£�
�£�9�,���5¬´�����3�������T�#�����H�7�W��§��#�1�#¤��I�£���\���P�����=¢ �7��� ���1���T���	�\���¸¬´����¢\� ���£�©�£�9�,���9�,���>��­ � �9�1­^�1���9�1���B�
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Ù �Õ����¢\� �q�\µ��£�T���#���L�I�	�	�����#���t�7�	¶>�����q���P¬´�\�#�	�Õ�t�7¶>���T¢Ð�©µC�B¬�§T�#����µd�B�����q���¥�±�q�7§^���3��¬����7�q�������
§^�B�¥�\�����1��¢�� ���3�������T�#�������ÀµM���W�����P² Â��\�[�������?�7���1�\¹ �\�T���5�7���£�����=���¸�\�T�3�	���£�
�£�T�&���	�#�T���\µ)�\���3�q­9�£�=�£���
µC�#�����9��� ���¸�T��¢��9�����9���q�����#���\���À§ �q�1�>­T���\���£���T¢P­9�	�\­^�����£�����À�\µØ�	�T��¢¥�=�T¢\�&�£�9���\�#��¬&�T���±���7�	���9�\��­T�#�5�#���¥�
�����d�	�5�7�L�=� �£�9�������¥²�%��T�WµC�I�I�£�9�	�W���������Ô��� �£���7�F�£�9�W½Ã¾�µC�9���?�£�����P�\µ9�£�T�W¢¥�=�T¢\�´�1���9­T�����9¢��	���t�7�#�£�1�O���=�
§^���9�5�3���B�5�ÒµM�	��� �£�T��­T�T�=�£�\�I+I¾¿­^�����¥�$µC�9���?�£�����)²Ï¼´�$���9�����>�\­Ò�£�9��¢��£�=­T�®�9�>���«�9�\�$���¥¤¥�\��¤¥��­T�T�=�£�\�
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